Fixed Point Theory, Volume 7, No. 2, 2006, 235-244 http://www.math.ubbcluj.ro/~nodeacj/sfptcj.htm

A FIXED POINT PROOF OF THE CONVERGENCE OF A NEWTON-TYPE METHOD

VASILE BERINDE* AND MĂDĂLINA PĂCURAR**

*Department of Mathematics and Computer Science North University of Baia Mare Victoriei 76, 430072 Baia Mare, Romania E-mail: vberinde@ubm.ro, vasile_berinde@yahoo.com

**Department of Statistics, Forecast and Mathematics Faculty of Economics and Bussiness Administration "Babeş-Bolyai" University of Cluj-Napoca
58-60 T. Mihali St., 400591 Cluj-Napoca Romania E-mail: madalina_pacurar@yahoo.com

Abstract. By applying an appropriate fixed point technique, it is shown that a certain Newton-type iterative method converges to the unique solution of the scalar nonlinear equation f(x) = 0, under weak smoothness conditions, involving only the function f and its first derivative f'. For this Newton-like method, an error estimate, better than the one known in the case of the classical Newton method, is also established.

Key Words and Phrases: 65H05; 47J25; 47H09; 47H10.

2000 Mathematics Subject Classification: nonlinear equation, Newton method, extended Newton method, Newton-like method, fixed point, quasi-contractive mapping, error estimate.

1. INTRODUCTION

Newton's method or Newton-Raphson method, as it is generally called in the case of scalar equations f(x) = 0, is one of the most used iterative procedures for solving nonlinear equations. It is defined by the iterative sequence

$$x_{n+1} = x_n - \frac{f(x_n)}{f'(x_n)}, \ n \ge 0,$$
(1)

under appropriate assumptions on f and its first derivatives. Notice that there is a close connection between Newton type iterative methods and fixed point

theory, in the sense that (1) can be also viewed as the sequence of successive approximations of the Newton iteration function

$$G(x) = x - \frac{f(x)}{f'(x)},$$

and moreover, under appropriate conditions, α is a solution of the equation f(x) = 0 if and only if α is a fixed point of the iteration function G.

There exist several convergence theorems in literature for the Newton's method, see for example [12], [13], [15], which, in order to ensure a quadratic convergence for the iterative process (1), are requiring strong smoothness assumptions, that involve f, f' and f''. These theorems usually also provide appropriate error estimates.

Theorem 1. ([12]) Let $f : [a,b] \to \mathbb{R}$, a < b, be a function such that the following conditions are satisfied

1) f(a) f(b) < 0; 2) $f \in C^{2}[a, b]$ and $f'(x) f''(x) \neq 0, x \in [a, b];$

Then the sequence $\{x_n\}$, defined by (1) and $x_0 \in [a, b]$, converges to α , the unique solution of f(x) = 0 in [a, b], and the following estimation

$$|x_n - \alpha| \le \frac{M_2}{2m_1} |x_n - x_{n-1}|, \ n \ge 1,$$
(2)

holds, where

$$m_1 = \min_{x \in [a,b]} |f'(x)|$$
 and $M_2 = \max_{x \in [a,b]} |f''(x)|$.

For concrete applications, Theorem 1 is widely used but there exist more general results, based on weaker smoothness conditions. We state here such a result, due to Ostrowski ([14], Theorem 7.2, pp. 60), based on weaker conditions on f but still involving the second derivative f''.

Theorem 2. ([14]) Let f(x) be a real function of the real variable x, $f(x_0)f'(x_0) \neq 0$, and put $h_0 = -f(x_0)/f'(x_0)$, $x_1 = x_0 + h_0$.

Consider the interval $I_0 = [x_0, x_0 + 2h_0]$ and assume that f''(x) exists in I_0 , that $\max_{x \in I_0} |f''(x)| = M_2$ and

$$2 |h_0| M_2 \le |f'(x_0)|.$$

Then the sequence $\{x_n\}$ given by (1) lie in I_0 and $x_n \to \alpha$ $(n \to \infty)$, where α is the unique zero of f in I_0 .

The smoothness assumptions in Theorem 2 are still very sharp, as shown by the next Example.

Example 1. ([2]) Let $f : [-1,1] \to \mathbb{R}$ be given by $f(x) = -x^2 + 2x$, if $x \in [-1,0)$, and $f(x) = x^2 + 2x$, if $x \in [0,1]$. The Newton iteration (1) converges to the unique solution of f(x) = 0 in [-1,1] but Theorem 2 cannot be applied, because f'' does not exist at $0 \in I_0 = [-1,1]$.

In a series of papers [1] - [11], the first author obtained more general convergence theorems for what was called there the *extended Newton's method*, for both scalar equations ([1] - [8], [10] - [11]) and n-dimensional equations [9], theorems that can be applied to weakly smooth functions, including the function in the previous example. The term *extended Newton method* was adopted in view of the fact that the iterative process (1) has been extended from [a, b] to the whole real axis \mathbb{R} , in order to cover possible overflowing of [a, b] at a certain step. A sample scalar variant of these results is contained in the following theorem.

Theorem 3. ([4]-[5]) Let $f : [a,b] \to \mathbb{R}$, a < b, be a function such that the following conditions are satisfied (f₁) f(a) f(b) < 0; (f₂) $f \in C^1[a,b]$ and $f'(x) \neq 0$, $x \in [a,b]$; (f₃) 2m > M, where

$$m = \min_{x \in [a,b]} |f'(x)| \text{ and } M = \max_{x \in [a,b]} |f'(x)|.$$
(3)

Then the Newton iteration $\{x_n\}$, defined by (1) and $x_0 \in [a, b]$, converges to α , the unique solution of f(x) = 0 in [a, b], and the following estimation

$$|x_n - \alpha| \le \frac{M}{m} |x_n - x_{n+1}|, n \ge 0,$$
 (4)

holds.

A slightly more general variant of Theorem 3 has been obtained in ([4], Theorem 5), by replacing condition (f_3) by the next one

$$(f_3') \quad 2m \ge M.$$

All proofs in [2], [4] - [7] are based on a rather classical technique, which focuses on the behavior of the Newton sequence (1). In an other paper [3],

without large circulation, the first author succeeded to prove Theorem 3 using an elegant fixed point argument.

Very recently, Sen at all [16] have extended Theorem 3 to the case of a Newton-like iteration of the form

$$x_{n+1} = x_n - \frac{2f(x_n)}{f'(x_n) + M_1 f(x)}, \ n \ge 0,$$
(5)

where $M_1 f(x) = \operatorname{sgn} f'(x) \cdot M$, with M defined by (3).

This result was then extended by Sen et all [17] to the *n*-dimensional case. In both cases an *extended* Newton-like algorithm was used.

It is the main aim of this paper to obtain a convergence theorem for the process (5), by means of a fixed point argument, under the same general assumptions in Theorem 3, that involve only f and its first derivative f'. Finally, a numerical example is also discussed.

2. QUASI-CONTRACTIVE OPERATORS

We shall use the results in [3] to construct the main tool to be used in Section 3 of this paper for proving a convergence theorem for the iterative method (5). Let (X, d) be a metric space.

An operator $F: X \to X$ is called a *quasi-contractive operator* if there exist $\overline{y} \in X$ and a constant $a \in [0, 1)$ such that

$$d(F(x), F(\overline{y})) \le a \cdot d(x, \overline{y}), \forall x \in X.$$
(6)

If \overline{y} is a fixed point of F and F satisfies (6) with a = 1, then F is called a *quasi-nonexpansive operator*, see for example [13]. We shall need the following Lemma.

Lemma 1. Let (X, d) be a complete metric space and $F : X \to X$ be a quasicontractive operator with \overline{y} a fixed point of F. Then \overline{y} is the unique fixed point of F and the sequence of successive approximations $\{F^n(x_0)\}$ converges to \overline{y} , for each $x_0 \in X$.

Proof. Since $\overline{y} = F(\overline{y})$, by (6) we get

$$d(F(x),\overline{y}) \le a \cdot d(x,\overline{y}), \,\forall x \in X.$$
(7)

Let $x_0 \in X$ be arbitrary and $\{x_n\}$ be the sequence of successive approximations starting from x_0 , that is, $x_{n+1} = F(x_n), n \ge 0$.

Using (7) we get, by induction, that

$$d(x_n, \overline{y}) \le a^n \cdot d(x_0, \overline{y}), n \ge 0$$

which, based on the fact that $0 \le a < 1$, yields

$$d(x_n, \overline{y}) \to 0 \text{ as } n \to \infty,$$

that is, $\{x_n\}$ converges to \overline{y} .

To prove that the fixed point is unique, assume that there is an other fixed point of F, say \overline{x} . If $\overline{x} \neq \overline{y}$, then $d(\overline{x}, \overline{y}) \neq 0$ and then by (7) we get to the contradiction

$$d(\overline{x},\overline{y}) \le a \cdot d(\overline{x},\overline{y}).$$

Remark 1. If X is a *compact* metric space, as in the case of X = [a, b], then Lemma 1 remains true if we replace the quasi-contractiveness assumption by the quasi-nonexpansiveness assumption. Note that a quasi-contractive (quasinonexpansive) operator is not generally a contraction, that is, an operator which, instead of (6), satisfies the classical contraction condition

$$d(F(x), F(y)) \le a \cdot d(x, y), \ \forall x, y \in X,$$

with $0 \le a < 1$.

3. The convergence theorem

Theorem 4. Let $f : [a,b] \to \mathbb{R}$ $(a,b \in \mathbb{R}, a < b)$, be a function such that the following conditions are satisfied

(f₁) f(a) f(b) < 0;(f₂) $f \in C^{1}[a, b]$ and $f'(x) \neq 0, x \in [a, b];$ (f₃) 2m > M, where

$$m = \min_{x \in [a,b]} |f'(x)|$$
 and $M = \max_{x \in [a,b]} |f'(x)|$.

Then the Newton-like iteration $\{x_n\}$ defined by (5) and $x_0 \in [a, b]$, converges to α , the unique solution of f(x) = 0 in [a, b], and the estimation

$$|x_n - \alpha| \le \frac{2M}{m+M} |x_n - x_{n+1}|, \ n \ge 0, \tag{4'}$$

holds.

Proof. By (f_1) and (f_2) it follows that the equation f(x) = 0 has a unique solution α in (a, b).

Let $F : [a, b] \to \mathbb{R}$ be the Newton-like iteration function associated to f, that is,

$$F(x) = x - \frac{2f(x)}{f'(x) + M_1 f(x)}, x \in [a, b],$$

where $M_1(x) = \operatorname{sgn} f'(x) \cdot M$ and M is given by (3). Since $f(\alpha) = 0$, we get

$$F(\alpha) = \alpha$$

and hence

$$F(x) - \alpha = x - \frac{2f(x)}{f'(x) + M_1 f(x)} - \alpha = x - \alpha - \frac{2f(x)}{f'(x) + M_1 f(x)}.$$

As

$$f(x) = f(x) - 0 = f(x) - f(\alpha),$$

by (f_2) and the mean value theorem, we get

$$f(x) = f'(\overline{y}) \cdot (x - \alpha),$$

where $\overline{y} = \alpha + \lambda(x - \alpha), 0 < \lambda < 1$. Then

$$F(x) - \alpha = (x - \alpha) \cdot \left(1 - \frac{2f'(\overline{y})}{f'(x) + M_1 f(x)}\right), \, \forall x \in [a, b].$$
(8)

Using (f_2) , it results that f' preserves sign on [a, b]. Hence

$$\frac{2f'(\overline{y})}{f'(x) + M_1 f(x)} > 0$$

which leads to the conclusion that

$$1 - \frac{2f'(\overline{y})}{f'(x) + M_1 f(x)} < 1, \, \forall x \in [a, b]$$
(9)

and for any \overline{y} between α and x. On the other hand, by (f_3) we obtain that, $\forall x \in [a, b]$,

$$\frac{2f'(\overline{y})}{f'(x) + M_1 f(x)} = \left| \frac{2f'(\overline{y})}{f'(x) + M_1 f(x)} \right| = \frac{2|f'(\overline{y})|}{|f'(x) + M_1 f(x)|} \le \frac{2M}{m+M} < 2,$$

which shows that

$$1 - \frac{2f'(\bar{y})}{f'(x) + M_1 f(x)} > -1, \, \forall x \in [a, b]$$
(10)

and for any \overline{y} between α and x. Now, by (9), (10) and the continuity of f' one obtains that there exists

$$k = \max_{x,\overline{y}\in[a,b]} \left| 1 - \frac{2f'(\overline{y})}{f'(x) + M_1 f(x)} \right| < 1,$$

which, together with (8), yields the quasi-contractive condition

$$|F(x) - \alpha| \le k \cdot |x - \alpha|, \forall x, y \in [a, b].$$
(11)

Note that we cannot apply Lemma 1 to F directly, because, under the weak differentiability assumptions in Theorem 4, [a, b] is generally not an invariant set under F. We shall prove, however, that there exists a certain iteration of F, say F^N , which satisfies

$$F^N([a,b]) \subset [a,b].$$

To this end, let us first note that, by (11) and the proof of Lemma 1, we have that

$$F^n(x_0) \to \alpha, \text{ as } n \to \infty.$$
 (12)

for any $x_0 \in [a, b]$, providing that all terms of $\{F^n(x_0)\}$ lie in [a, b].

Because [a, b] is not an invariant set under F, then, by starting with the Newton-like iteration $\{x_n\}$ from a given initial guess x_0 , it is possible to obtain at a certain step, say $p, x_p = F^p(x_0) \notin [a, b]$. In order to send back the Newton-like iteration into [a, b], we shall consider an *extended* algorithm, defined by means of the prolongation by continuity and first order differentiability of f to the whole real axis. Denote this function by $\overline{f}: \overline{f}(x) = f'(a) \cdot (x-a) + f(a)$, if x < a and $\overline{f}(x) = f'(b) \cdot (x-b) + f(b)$, if x > b.

Then, we will correspondingly define $M_1\overline{f}(x)$ on a set $A \subset \mathbb{R} \setminus [a, b]$ by

$$M_1\overline{f}(x) = \operatorname{sgn}\overline{f}'(x) \cdot \max_{x \in A} \left|\overline{f}'(x)\right|, \ x \in A.$$

Notice that, if $x \in (-\infty, a]$, then

$$M_1\overline{f}(x) = \operatorname{sgn}\overline{f}'(x) \cdot \max_{x \in (-\infty,a]} \left|\overline{f}'(x)\right| = \operatorname{sgn}f'(a) \left|f'(a)\right| = f'(a)$$

and similarly, if $x \in [b, +\infty)$, then

$$M_1\overline{f}(x) = \operatorname{sgn}\overline{f}'(x) \cdot \max_{x \in [b, +\infty)} \left|\overline{f}'(x)\right| = \operatorname{sgn}f'(b) \left|f'(b)\right| = f'(b).$$

Now, if some iterate x_p of the Newton-like process (5) does not lie in [a, b], we can have either $x_p < a$ or $x_p > b$. In the first case,

$$x_{p+1} = x_p - \frac{2\overline{f}(x_p)}{\overline{f}'(x_p) + M_1(\overline{f}(x_p))} = x_p - \frac{2(f'(a)(x-a) + f(a))}{f'(a) + f'(a)} = x_p - \frac{2(f'(a)(x-a) + f(a))}{2f'(a)} = x_p - x_p + a - \frac{f(a)}{f'(a)} = a - \frac{f(a)}{f'(a)} > a,$$

because, from $(f_1) - (f_2)$, we get f(a)f'(a) < 0. If the second alternative occurs, that is, $x_p > b$, then

$$x_{p+1} = x_p - \frac{2\overline{f}(x_p)}{\overline{f}'(x_p) + M_1(\overline{f}(x_p))} = x_p - \frac{2(f'(b)(x-b) + f(b))}{f'(b) + f'(b)} = x_p - \frac{2(f'(b)(x-b) + f(b))}{2f'(b)} = x_p - x_p + b - \frac{f(b)}{f'(b)} = b - \frac{f(b)}{f'(b)} < b,$$

because, from $(f_1) - (f_2)$, we get f(b)f'(b) > 0.

Therefore, in both cases, any iteration that goes outside [a, b] will be sent back to [a, b] at the next step and, since $\{x_n\}$ converges to α , with $a < \alpha < b$, it follows that, starting from a certain rank N > 0, we shall necessarily have

$$x_n = F^n(x_0) \in [a, b],$$

which means that $F^{N}([a,b]) \subset [a,b]$, as claimed.

By an other hand, using (11) we obtain

$$|F^{n}(x) - \alpha| \le k^{n} |x - \alpha|, \ \forall x \in [a, b], \ n \ge 0,$$

and thus F^N satisfies all requirements of Lemma 1.

This leads to the conclusion that α is the unique fixed point of F^N , therefore α is a fixed point of F, too.

To obtain the estimation (4'), we use (5) and the mean value theorem to get

$$x_{n+1} - x_n = -2\frac{f'(c_n)}{f'(x_n) + M_1 f(x_n)}(x_n - \alpha),$$

where

$$c_n = \alpha + \mu(x_n - \alpha), \ 0 < \mu < 1,$$

which immediately yields the desired estimation.

Remark 2. Having in view the obvious inequality $m \leq M$, it is clear that the error estimate (4') in Theorem 4 is better than the corresponding error estimate (4) in Theorem 3.

4. Numerical examples and Conclusions

Note that, similarly to the case of Theorem 3, condition (f_3) in Theorem 4 can be replaced by (f'_3) to obtain a convergence theorem that includes functions like f in Example 1. In that case the equation f(x) = 0 has a unique solution $\alpha = 0$ situated in the interval [-1, 1] and m = 2, M = 4. Starting from $x_0 = 0.5$, the classical Newton's method, that is, the iterative process

$$x_{n+1} = \frac{x_n^2}{2x_n + 2}, \ n \ge 0,$$

yields the decreasing sequence $x_1 = 0.83333$, $x_2 = 0.0032051$, $x_3 = 0000129$, $x_4 = 0.0000001$ and $x_5 = 0$, while the Newton-like method considered on the interval [0, 1], defined by

$$x_{n+1} = \frac{x_n}{x_n+6}, \ n \ge 0,$$

produces the decreasing sequence $x_1 = 0.076923$, $x_2 = 0.012658$, $x_3 = 0.002105$, $x_4 = 0.000351$ and $x_5 = 0.000058$ which is slightly slower than the Newton's iteration. The Newton-like method studied in this paper could be an alternative to the classical Newton's method, if a better expression to replace $M_1 f(x)$ in (5) could be determined.

References

- V. Berinde, An extension of the Newton-Raphson method for solving nonlinear equations, in Proceedings of the Internat. Sc. Conference MICROCAD-SYSTEM '93, 9-11 November 1993, Technical Univ. Kosice, 63-64.
- [2] V. Berinde, A fixed point proof of the convergence of the Newton method, in Proceed. of Int. Conf. MICROCAD '94, 2-4 March 1994, Univ. of Miskolc, 14-21.
- [3] V. Berinde, V., A chaos phenomenon in applying the Newton method, Proceed. Internat. Conf. MICROCAD '95, Univ. Miskolc, 21-24 Februarie 1995, 48-51.
- [4] V. Berinde, Conditions for the convergence of the Newton method, An. Şt. Univ. Ovidius Constanța, 3(1995), No. 1, 22-28.
- [5] V. Berinde, Remarks on the convergence of the Newton-Raphson method, Rev. d'Anal. Numer. Theor. Approx., 24(1995), Nos 1-2, 15-21.

- [6] V. Berinde, Generalized Contractions and Applications, Editura Cub Press 22, Baia Mare, 1997 (in Romanian).
- [7] V. Berinde, On some exit criteria for the Newton method, Novi Sad J. Math., 27(1997), No. 1, 19-26.
- [8] V. Berinde, On the convergence of the Newton method, Trans. Univ. Kosice, 1(1997), 68-77.
- [9] V. Berinde, On the extended Newton's method, in Advances in Difference Equations, S. Elaydi, I. Gyori, G. Ladas (eds.), Gordon and Breach Publishers, 1997, 81-88.
- [10] V. Berinde, Weak smoothness conditions and the Newton's method, in Finite Difference Methods: Theory and Applications (A. Samarskii, P. N. Vabishchevich, L. Vulkov, eds.), Nova Science Publishers, 1999, 1-8.
- [11] V. Berinde, Error estimates for some Newton-type methods obtained by fixed point techniques, Proceed. Internat. Sc. Conf. Math., Herlany, 21-23 October 1999, Technical Univ. Kosice, 2000, 19-22.
- [12] B.P. Demidovich, A.I. Maron, Computational Mathematics, MIR Publishers, Moscow, 1987.
- [13] J. Ortega, W.C. Rheinboldt, Iterative solution of nonlinear equations in several variables, Academic Press, New York, 1970.
- [14] A. Ostrowski, Solution of equations and systems of equations, Academic Press, New York, 1966.
- [15] L.V. Kantorovich, G.P. Akilov, *Functional analysis*, Second edition, Pergamon Press, Oxford-Elmsford, New York, 1982.
- [16] R.N. Sen, A. Biswas, R. Patra, S. Mukherjee, An extension on Berinde's criterion for the convergence of a Newton-like method, Bull. Calcutta Math. Soc. (to appear).
- [17] R.N. Sen, S. Mukherjee, R. Patra, On the convergence of a Newton-like method in ℝ and the use of Berinde's exit criterion, Intern. J. Math. Math. Sc. Vol. 2006 (2006), Article ID 36482, 9 pages; doi:10.1155/IJMMS/2006/36482.

Received October 24, 2006; Accepted: November 14, 2006.